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Vertikale Aufteilung mit einem Helfergitter
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Vertikale Aufteilung mit einem Helfergitter

Name: L Osungsschliussel

L 0se jede Aufgabe.
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Antworten
1 /81l
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Vertikale Aufteilung mit einem Helfergitter

Name:

L 6se jede Aufgabe. Antworten
78 rl 197 r2
81 r3 424 r1 1
123 r1 28 r4
1) 2) 3) z
2|1157 91968 31139 3
4,
5.
6.
7.
8.
4) 5) 6)
71899 21849 81228 .
7) 8) 9)
91732 41790 71862
Geandert 1-9 [89]78]67]|56]44[33[22[11] 0 |
[ Mathe ] www.CommonCoreSheets.de 6




	Worksheet
	Lösungsschlüssel
	Geändert

